3 e AU Gl ety pobe Lipgllmy 1

G\.:JL:J‘ ¥l IR 4?9 d:- s 1(&)&3

\/gcosx—sinX:\/E cos x—+/3sinx=1 COSX—SiIlX:\/E
sin x+cos x=1 sinx+cosx=\/§ cosg—sin§=—1
e
£(x) = 22X SR ol s : 2 e
coS X—sin x
cosx—sinx=0 : Walall IR > J=>(1
Df 3...\:-(2
l+sin2x .
VxeDf f(x)=—"7":0l (m@3
cos2 x

f(x)-43=0 :Wslall IR ;b J>(4

A(x):\/gcos[Zx—%)—sin(b(—%j eadl e (Lads lade X St 3 fyad

Alx)= 2cos(2 x—%j Lol el

Ax)=1 :Walatl Frsm ] sl 2 Jo (2

Ax) = —2c0s (x)+ /35 (2x)+ 2 : yead yad Lo lade X S 4 iy
Alx)=4 sin(x)[%cos(x)+%sin(x)} :0l ol

Ax)=0 :Walatl IR b J=>(2

Moutamadris.ma "} r'



https://moutamadris.ma

EYCTN T

3 -
e D e gl

s pole Lpgllamy 15l

r=+a’ +b> 5k 9Jwad o aC0S X+ bsin X = ¢ :JEad e e oyl 53929l C¥alatl : 1 0yl
cos x—sin x=~/2 :dalall Jeed

1 .
—cosx———=sinx=1

N RN
T AW
cos| — |[cos x—sin| — [sin x=1
(5 )eesx-sn(3)
S:{%+2kﬂ' /kEZ} ‘?Jub cos(%+xj:] La,g..\j

X+%=2k7‘[/k€Z

X=%+2k7‘[ ke Z

cos x—+/3sin x=1 :Jalall J=d

—COSX——sin x=
2 2

n NEAW
cos| — |cos x—sin| — [sin x=
Blesl3
n n
cos| —+ X | === cos| =
(535
n

X+£=—+2k7r/keZou X+£=i+2kﬂ'/k€Z
3 3 3 3

N|— N[— N~

x=2kr/ke Z ou X=%+2k7r/keZ

S={2kn/ke Z}U{%ukn/ke Z} AL

V3 cos x—sin x=+/2 :Walatl Jeed
NE)

—COoS X——sSin x=
2 2

T T
cos| —+ X | = cos| —
(4 j (4] ;L

X+£=£+2k7r/keZou X+£=i+2k7l'/kEZ
4 3 4 3

X=£—£+2k7‘[/k€ZOU X:i—£+2kﬂ/keZ
3 4 3 4

X=l+2kﬂ'/k€ZOU X:ﬂ+2kﬂ/keZ
12 12

S:{%+2kn/keZ}U{%+2kﬂ/k€2} : AL

Moutamaoris.ma'-'gﬁf;ﬁ



https://moutamadris.ma

cosg— sing =—1 :Nalatl Jxd

L cos——isinE -1
J2 2 22
T X . (m). x
cos| — [cos— —sin| — [sin— = —1
(5 )ems3 -5 Jon
T X
3 cos(— + —j =—1
S={7+2kn/keZ} AL 4 2 ‘Lol
i(+£:7r+k7r/keZ
2 4
x 3rn
—=—+kn ke ”Z
2 4
3

X=7+2k7'[/k€Z

sin x+cos x= /2 :Jalat! Jeed

1 1 .
—cCcosX+—sinx=1

N

T (T .
cos| — |[cos x+sin| — |sin x=1
(4J (4j

{%+2kﬂ' ke Z} g,.“.ﬁb cos(%— j:] Lol

9%}
Il

X—%:2kﬂ/keZ

X=%+2k7‘[ ke Z

sin x+cos x=1 :alatl J=d
1 1 1

——COS X+ —=sSin x=

V2 V2 2

4 2
cos(E - j = Q = cos(lj Lol
4 2 4

E—X:£+2k7r/keZouE—X:i+2k7r/keZ
4 4 4 4

x=-2kr/ke Z ou X=%+2kﬂ'/k€Z

S=1{-2kn/ke Z}U{%+2Im/ke Z} AL

cosa=cosb<a=b+2kr oua=-b+2kr /keZ

cosa=1<a=2kn /keZ ; cosa=-1< a=n+2kn/ke”Z ; cosa=0 < a:%+k7r/keZ

sina=sinb < a=b+2kr/ke”Z ou a=n-b+2kr/ke”Z

sinazl@az%+2k7r/keZ - sina=-1 @a:%+2kn/keZ - sina=0< a=kr/keZ

Moutamaoris.ma'-'gﬁf;ﬁ


https://moutamadris.ma

COS X+ sin X 2y
f(X)=—. PE(dyad
COS X—sin x

sin x—cos x=0 :Jalall ot
1 1 .
—cosx——sinx=0

N

T AW
cos| — [cos x—sin| — [sin x=0
(4) (4j

1
S:{%-l—kﬂ:/kGZ} ‘?me COS(%+X)=O L.\:g_\]
T ix="tknlkez
4 2
x="tkn/keZ
4
Df ={xe IR/cos x—sin x# 0} = IR _ s (3ledl Jgedl s O3 f(X)=w Lad 5
7{Z+kn/keZ} COs X—sin x
f(x)= (cos x + sin x) B (cos x+ sin x)(cos x + sin x)
(cos x—sinx) (cos x—sin x)(cos x +sin x) Ll
f(x)= (cosx+sinx)’ cos’ x+sin® x+2sin xcosx _ 1+sin2x _l+sin2x 3
cos’ x—sin” x COS XCOS X — sin xsin X cos(x+x)  cos2x
Lo Ax) -3 =0 dalall Jod
1+sin2 . .
f(X)=\/§ = LI;X=\/§ & 1+sin2x=+/3c0s2x < /3 cos2x—sin2x=1
cos2x
1. 1 . .
= ﬁCOSZX——SlIlZX:— & cos| = |cos2x—sin| = sm2x=l
2 2 2 6 6 2
T T
< cos| —+2x | =cos| —
(+2=={3)
4

= E+2X:£+21<7t/keZ ou £+2X:i+2k7r/keZ
6 3 6 3
T -7
= 2X=g+2k7'[/k€Z ou 2X=7+2kzr/keZ

f(X)I\/g = X=%+kﬂ'/k€Z ou X:%+k7r/keZ

S:{%+Im/keZ}U{%+kﬂ/keZ} I

Alx)= \/gcos(2 X—%) —sin(2 X—%j : 3 pdpad

Ax)=3 005(2 X— %j - sin[z X— %} - 2[? cos(2 X— %j - %sin(2 X— %B
{@(zgj@(zﬂj 1

A(X)= 2cos(£+ 2x-Z | =2co8 2x-Z
6 3 6

Moutamadris.ma ™} r'



https://moutamadris.ma

A(X)=1<:> 2co8{ 2x— L | =1 < cos 2x— = =l=cos z
6 6 2 3
<:>2X—£=£+2kﬂ/keZ ou 2X—£=i+2k7r/keZ
6 3 6 3
<:>2X:%+2k7r/keZ ou 2X:%+2kﬂ/keZ

A(X):1©X2%+k7r/keZ ou X:%+k7r/keZ
1 Aled ddd 9 k (gl suall (o3 Frin] ot 2 83929l Jelael upusd

£+kﬂ€]—ﬂ;ﬂ]<:>—7l' <%+k7r£7r < —4n <m+4dkn <4n < —Sm <4kr <3rm

& —5<4k<3 <:>_Ts<k£%<:> k=-louk=0 2
£+k7re]—7r;7r]<:> X=£—ﬂ=_3ﬂ ou x==
4 4 4

i+k7re]—7r;7r]c>—rc < Zikn<r o -12n<-m+12kr <127 < — 11z <12kr <13n

—-11 13

& -11<12k<13 & —<k<—< k=0ouk=1 : 9
12 12
-7 -7 -7 117
—+k7re]—7r;7r]<:> X=—— 0uU X=——+n1=——
12 12 12 12

T -3z —-n llx
S=<—; ; ; Yo |04 | )
{ 12 12} L

Ax)= —2cos*(x)+/3sin(2x)+2 4 el
A(x) = —2cos?(x)+ x/gsin(ZX)+ 2= 2(1 —cos’ X>+ /3 x 2sin xcos x

= 2sin’ X+2\/§sinxcosx=4sinx[%sinx+§cosx} Lol 1
Ax)=4 sm(x)(gcos(xp %sm(x)J
AD)=0 o 4 sin(x)(?cos(x)+ %Sin(x)] “o
< sin(x)=0 ou (g cos(x)+ %sin(x)] =0
T NE AW
& x=kn/keZ ou cos(gjcos X+ s1n(gjsm x=0
< x=kn/keZ ou cos(x—%)=0 2

< x=knl/keZ ou X—%=%+kn/keZ

Ax)=0 © x=kn/keZ ou X=2Tn+kﬂ'/k€Z

S:{kn/keZ}U{zTﬂ+kﬂ/keZ} O 1

Moutamadris.ma ;J



https://moutamadris.ma



